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1. H9% $ T JINT 3T BT $gd 2

(A) FHYIT
(B) FuHH
(C) it
(D) T
2. ot daw & S # uRadd @ wEd
g
(A g
(B) wrmifcRM
(C) EdBItD
(D) TARREH
3. dfed oy 9 S 8¢ Il @l ded
g
(A) IR
(B) My
(C) diffea

(D) FeMTESRUN
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Food absorbing organ of fungi is known

as .

(A) Appressoria

(B) Haustoria

(C) Hook

(D) Mycelium

Whole thallus is converted

reproductive organ is called as :

(A) Eucarpic

(B) Promycelium

(C) Holocarpic

(D) Antheridium

The spores which are produced

budding method :

(A) Blastospores

(B) Arthrospores

(C) Conidia

(D) Chlamydospores

into
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g YR & Badole § Yeoqg el aIdl
g7

(A)  TrETEIferaH

(B) AMififes Argdiferad

(C) oo™

(D) SWH H W B &l

(C) TRf~T

(D) ST W

AG-2006

(4)

What type of mycelium have no septa ?

(A) Promycelium

(B) Coenocytic mycelium

(C) Thallus

(D) None of the above

Clamp connection is found in :

(A) Ascomycetes

(B) Oomycetes

(C) Basidiomycetes

(D) All of the above

Spores are produced in oomycetes :

(A) Zoospore
(B) Oospore
(C) Sporangia

(D) All of the above

Set-B



Rrefofed § & P9 qo RAReE
sofl H o 7 ?

(A) T

(B) e

(C) RFARERA!

(D) ST wd

SIETRGR Gl ] & -
(A)  TRIERIENT &1
(B) HHRRIC &1

(C) SHfsImRRICN @
(D) SRR &1

TEHMERICI  ®ad & QO 9%

HeTaTd B FEd ¢ :
(A) iR
(B) W

(C) iR

(D) =i
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Which of the following families is in

Peronosporales order ?

(A) Albugonaceae

(B) Pythiaceae

(C) Peronosporaceae

(D) All of the above

Zygospore is the resting spore of :

(A) Ascomycetes

(B) Oomycetes

(C) Basidiomycetes

(D) Zygomycetes

Completely closed fruiting body of

Ascomycetes fungi is called :

(A) Cleistothecia

(B) Perithecia

(C) Apothecia

(D) Pseudothecia

Set-B



10. 9% P P o
(A)  TEPIAERICT
(B) SRR
(C) SR
(D) Sudad # ¥ IIg T
11. frfofeq & 4 aF-w ST 9@ @
g 7?
A) FER -~ SRR
B TR — SEmEERe
(C) TR — THMERC
(D) sHfeaR — SiifeamEREN
12. fFrafiRed ¥ 9 $-91 98 GHlod T8l
g 7?
(A) SR ed — SAfSImERd
B) voeifEr - TR
€ @R — SRR
(0) forhfear  — mmHERIcS
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10.

11.

12.

Sac fungi is called as :

(A) Ascomycetes

(B) Zygomycetes

(C) Oomycetes

(D) None of the above

Which of the following pairs is not

correct ?

(A) Oospore — Oomycetes

(B) Zoospore — Zygomycetes
(C) Ascospore  — Ascomycetes
(D) Basidiospore — Basidiomycetes

Which of the following is not correctly

matched ?

(A) Dolipore septum — Basidiomycetes
(B) Apothecia — Ascomycetes
(C) Sporangia — Oomycetes
(D) Pycnidia — Zygomycetes
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13, BUS PHad (b9 401 | 3§ ?
(A) AT
(B) 3RCIIfed
(©) Ffwe
(D) S F ¥ B T

14, IEUTCTAT IBR TR © :
(A) T BT R IAT A
(B) 3Tl BT A ST I 4
(C) g &I o3 I |
(D) g BT HH T W

15. f=fiRad d | ®F-A I FdIor @
BRG el & ?
(A) UNH
(B) T
(C) THRG

(D) TR
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13.

14.

15.

Smut fungi belong to which order ?

(A) Uredinales

(B) Ustilaginales

(C) Erysiphales

(D) None of the above

Robagalia festival is related to :

(A) Khaira of Rice

(B) Early blight of Potato

(C) Rust of Wheat

(D) Citrus canker

Which of the following is not factor of

disease triangle ?

(A) Host

(B) Disease

(C) Pathogen

(D) Environment
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16. PIfde-19 INT &I YOR & : 16. COVID-19 is a kind of disease :

(A) sish® (A) Epidemic
(B) FsMa (B) Endemic
(C) WRfSH (C) Sporadic
(D) Ufi® (D) Pandemic
17. U fAfEd &9 # I &1 IR-IR I~ 17. Continuous occurrence of disease in a
2T PR & particular area is known as :
(A) e (A) Epidemic
(B) Qr@ " (B) Endemic
(C) wWRfs® (C) Sporadic
(D) U<fis (D) Pandemic
18. frfoRed & & @F-|1 Qf o1 Wil 18. Which of the following is total stem
397 parasite ?
(A) AR (A) Loranthus
(B) XIS (B) Striga
(C) 3IRIeh! (C) Orobanchi
(D) PRI (D) Cuscuta

19. FHfRad § | SF-A1 GeEolg agwual 19.  Which of the following is a pleomorphic

37 organism ?

(A) TSI (A) Phytoplasma
(B) ®dd (B) Fungi

© Gﬂarﬂg (C) Bacteria
(D) TEHMA (D) Nematode

AG-2006 (8) Set-B



20.

21.

22.

23.

VTS §

(A) 3Fg T Rl
(B) 9 SfS WRuid!
(C) f S wwolid)
(D) oT T TRl

DIfIepT AT &1 il Wl @ -

(A) Sitar #
(B) WISCIToH H
(C) ®a® #

(D) Suda Wl

AUt # A S BT
(A) Taifeq fafg 9

(B) Teal fagved &

(C) fa@ved |

(D) SWad # | BIg T2

S 1 A B o T @)

IS Bl ©

(A) 5-10 e
(B) 10-15 fic
(C) 20-30 fAe

(D) 40-50 fA¥e
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20.

21.

22.

Strigaisa:

(A) Semi Stem Parasite
(B) Semi Root Parasite
(C) Total Root Parasite

(D) Total Stem Parasite

Cell wall is not found in :
(A) Bacteria
(B) Phytoplasma

(©)

(D) All of the above

Fungi

Bacteria are commonly reproduced by :
(A) Budding

(B) Binary Fission

(®

(D) None of the above

Fragmentation

Bacteria are required time for doubling of

cell :

(A) 5-10 minutes

(B) 10-15 minutes
(C) 20-30 minutes

(D) 40-50 minutes

Set-B



24,

25.

26.

27.

ey Sfar] fae & S g
(A) <O IR

(B) §. . geoR

(C) e B

(D) g TR

RICIEE

(A ArHRaTeH

(B) THPIRIDH

(C) oR HIRkIE fRT §

(D) Suda Wl

(A) 3R T T

(B) S UA. T

(C) 3R UH. T. &R Sl 4. U. T

(D) I I AR, TA. T. 37qaT S, T, T.
ST Bifrent A 2 @

() HIRT @

(B) I 31

(C) Wl I
(D) TCEHIIEH B
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25.

26.

Father of Phytobacteriology is :
(A) T.J.Burrill

(B) E.J.Butler

(C) Robert Koch

(D) Louis Pasteur

Bacteria are :

(A) Prokaryotes
(B) Unicellular
(C) Having rigid cell wall

(D) All of the above

Viruses are having :

(A) RNA

(B) DNA

(C) Both RNA and DNA

(D) Either RNA or DNA

Bacteria cell wall consists of :

(A) Murein

(B) Chitin

(C) Cellulose

(D) Glycoprotein

Set-B



28. A1 FIRMGHT & A WG dgad H 28. Bacteria with several flagella attached all

FRER @@ 3 a wEa S over the cell are called :
(A) AFICEHA (A) Monotrichous
(B) WABICZHA (B) Lophotrichous
(C) WgEHA (C) Peritrichous

(D) TRDICISHY (D) Amphitrichous

29. “BITINIH IRIaY UeleH T, | Aol 29. Who said “Contagium vivum fluidum

AT T RO L e T ? is responsible for the mosaic of
Tobacco” ?

(A) FR (A) Mayer
(B) Wl (B) Stanley
(C) SAHRDI (C)  Ivanowski
(D) INIR® (D) Beijerinck

30. fy=foRad # & @-w1 Wil W& gAford 30 Which of the following pairs is correctly

59 matched ?

(A) faurg —  I@IReN (A) Virus — Acellular
(B) T —  @rgfed (B) Bacteria —  Chitin
(C) TP —  HIEGAm (C) Fungi —  Phycology
(D) ST — ad (D) BGA —  Algae

AG-2006 (11) Set-B



31. Had] BT PN fhar AT € 31. Fungi are classified under :

(A) THSIBISET & A=l (A) Spermatophyta
(B) STAIGISST & 3 (B) Bryophyta

(C) cRemwIEel & 3=iid (C) Pteridophyta

(D) IATBIZeT & 3T (D) Thallophyta

32. FARIhe SFURYATT BIaT 7 - 32.  Chlorophyll is absent in :

(A) HaF H (A) Fungi

(B) aret # (B) Algae

(C) Sy (C) Bacteria

(D) Sugad Fl (D) All of the above

33. ffoRed # & @H-w1 g@RAfCH Sha 33, Which of the following is not Eukaryotic

Tl B ? organism ?

(A) T (A) Fungi

(B) 3t (B) Amoeba

(C) I RT dardt (C) Blue green algae

(D) g (D) Algae

34, M gl @ uRwia R o 34.  Binomial nomenclature was given by :

(A) Bel A o (A) Carl Linnaeus

() w4 (B) Smith

(C) TN S & A (C) Anton de Bary

(D) 3. Ol 9colR | (D) E.J.Butler

AG-2006 (12) Set-B



35.

36.

37.

38.

AG-2006

Ueiffer @1 @ @ ot
(A)  <IHel J
(B) oif A
(C) TlfdT A
(D) T A

fgTm wgfd @ forg @F-w 9w smawd
g ?

(A) wifed

(B %

(c) U@

(D) oA

TG, & Aol (A9 &1 hedrgoreH
e Ty o

T B faBrT B ufhar B bed ©

(A) YR

(B) sfcarton

(C) vdIehrErsl

(D) SWad # | BIS T

(13)

35.

36.

37.

38.

Penicillin was discovered by :
(A) Blakeslee

(B) Linnaeus

(C) Fleming

(D) Stanley

Which language is essential for Binomial

nomenclature ?

(A) Latin
(B) French
(C) Greek

(D) German

Crystallization of Tobacco mosaic virus
was given by :

(A) Bawden

(B) Stanley

(C) Mayor

(D) J.P.Verma

The process of development of diseases is

known as :

(A) Pathogenesis
(B) Etiology
(C) Epidemiology

(D) None of the above

Set-B



39. 3AR® WY A dlofold I & : 39. Internally seed-borne disease is :

(A) g BT BTl 165 (A) Black rust of wheat
(B) ﬁi ARSI CRRES (B) Covered smut of wheat
(C) g BT Y TS (C) Loose smut of wheat
(D) SWa &l (D) Al of the above
40. fr=faRad § 9 o9-91 daal & e 40. Which of the following is not a step of
S B B R ? sexual reproduction of fungi ?
(A) TITHRMHT (A) Plasmogamy
(B) &y fawrer (B) Meiosis division
(C) FFA! fawra (C) Mitosis division
(D) HRIFHN (D) Karyogamy
41. < fopureliar d=ai o GHNH Pl & 41. Union of two functional nuclei is known
as:
(A) TITHRMHT (A) Plasmogamy
(B) HRIFHA (B) Karyogamy
(C) e (C) Autogamy
(D) TRAHT (D) Heterogamy

42. =faRad & 9 d9-d1 ®adl @ =T 42. Which of the following is female

e 37 gametangia of fungi ?
(A) SN (A) Oogonium
(B) TEIRfeTw (B) Antheridium
(C) Rf~IH (C) Sporangium
(D) diffeTw (D) Conidium

AG-2006 (14) Set-B



43. TISCIWRIRT GRMIT B 43. Phytophthora belongs to :

(A) THEERES & (A) Ascomycetes
(B) MRS ¥ (B) Basidomycetes
(C) SHERIEN ¥ (C) Oomycetes

(D) SIETHIERIEN & (D) Zygomycetes

44, ‘E{fa@?ﬁ W@‘dﬁ?ﬂ?ﬁ'ﬁw Qﬂ?ﬂg—cﬁ’ Gall 44. ‘Indian Phytopathological Society’ was

established by :

eqTfud foam o

(A) 9 4 goeaR A (A) B.B. Mundkar
(B) 3. Ol 9ok A (B) E.J. Butler
(C) S U TRR - (C) J.F.Dustur
(D) 3R 4. R+ (D) R.S.Singh

45. ‘e i fdle @&  ogd 45. The book “Plant Disease” is written

5. by :
(A) IR TH. HERET (A) R.S.Mehrotra
(B) dR®. U =4 (B) Y.L.Nene
(C) 3R U4 Ri® (C) R.S.Singh
(D) TH. 3. AR (D) N.E. Borlaug

AG-2006 (15) Set-B



46. MNd H Uy A A5 & SH e b qH 46. Who is known as father of Plant

Y ? Pathology in India ?

(A) T IR, 99 (A) S.R.Bose

(B) @. dl. Hegar (B) K.C.Mehta

(C) 3. Ol e (C) E.J.Butler

(D) 4 &I gusan (D) B.B. Mundkar
47. JRNUE MR PT DRI o : 47. The Ireland famine was due to :

(A) 3Tl BT AT ST I (A) Early blight of potato

(B) 3fTe] T el Forar T (B) Late blight of potato

(C) oM &I ¥ Tl ga I (C) Brown leaf spot of rice

(D) o &1 ST Uil Ferdr JT (D) Bacterial leaf blight of rice
48. URIcd o« & fHior a9y oferor 2 48. Acropetal chain formation is the special

character of :

(A) UIeH @ (A) Pythium

(B) 3fTee<ARAT & (B) Alternaria

(C) WISCITIRT B (C) Phytophthora

(D) Suga |4l B (D) All of the above

49. Uil @ G H I B BN R B b 49. The study of outbreak and spread of

ST T e § disease in a plant population is called :
(A)  gfearrs] (A) Etiology

(B) Uerrarol (B) Pathology

() sdsHaEeH (C) Epidemiology

(D) BREBIRC (D) Forecasting

AG-2006 (16) Set-B



50.

51.

52.

53.

Hah e & fUeT €
(A) T S
(B) WarRe

(C) I U Azl

(D) § Ol §CeR

THHIRDY HIB T -
(A) TRITRT

(B) HeRHEH

(C) 3MeexARaT

(D) Suda Wl
J¥fiUed o T 9 R
(A) T A

(B) 3fTecxARAT #

(C) Ufrm ¥

(D) S

TGN & ST BT BEd & -

(A) ¥

(B) Hrsitfera

(C) diffea

(D) SUYa H A Bl 7l
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50.

51.

52.

53.

Father of Mycology is :

(A) Anton de Bary
(B) Prevost
(C) P.A. Micheli

(D) E.J.Butler

Unicellular fungi is :
(A) Puccinia

(B) Saccharomyces
(C) Alternaria

(D) All of the above

Basipetal chain is found in :
(A) Albugo

(B) Alternaria

(C) Pythium

(D) All of the above

Network of hyphae is known as :

(A) Thallus

(B) Mycelium

(C) Conidia

(D) None of the above

Set-B



54, W9 99 P RRR W & B, a1 54

SY FEd ¢

(A) T o

(B) fha-mrd o+
(C) RTr-o o+

(D) ThIUee d

55. hqdl H WEl G BT WY ¢ 55,

(A) e
(B) TelTgIo
(C) T

(D) P

56. ®adl Bl DIl MRT g+ B & 56.

(A) BIEfeT B
(B) Wl I

(C) TP Bl
(D) HeATT B

57. ®dd Ud AdId & &1 § TEoldl T B 57.

(A) FEPRE

(B) Mt BRT Fardt

(C) dEeH
OBGIEREIS

AG-2006 (18)

When the youngest Conidia are produced

on apex is known as :

(A) Basipetal chain
(B) Criss-cross chain
(C) Zig-zag chain

(D) Acropetal chain

Fungi have food storage in the form of :

(A) Cellulose
(B) Glycogen
(C) Starch

(D) Glucose

Fungi cell wall is made up of :
(A) Chitin

(B) Cellulose

(C) Glucomine

(D) Melanin

The symbiotic association between fungi

and algae is :

(A) Mycorrhiza

(B) Blue green algae

(C) Lichen

(D) Red algae

Set-B



58. FHfRgd # # SH-41 IEIIR@E 58. Which of the following is a multicellular

S & 7 bacteria ?
(A) T BRT At (A) Blue green algae
(B) SFIHEN (B) Xanthomonas
(C) TeMEA (C) Streptomyces
(D) Riler (D) Bacillus
59. N daY] for wrferefierar &t @ 59.  Those spores who have motility :
(A) SR (A) Oospore
(B) SER (B) Zoospore
(C) TR (C) Zygospore
(D) dIffear (D) Conidia

60. Uh Thd H fhad TWION Sdrfed 60. How many ascospores are produced in an

Ay e ascus ?
(A) 4 (A) 4
(B) 8 (B) 8
<€ 2 (C) 2
(D) 12 (D) 12

AG-2006 (19) Set-B



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, UoR a2l Hegerk

B o ST AT SHBT SYINT AT Ifoid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT S HUFROT & q= BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o
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